~2E =z

4%
1

6H27H(XK) %R

¥ AGIMKEDENT LET .

A 4 X M | RS- ABRIEHEG i 55
BYN 6 =i 5kg i kg 900 EiE
BHHYN 1B = 5k 5kg 5= kg 800 B
BHN 82 =i 5kg & kg 700 TE
= A 102 FE 5kg 5B kg 700 EE
7 7/9kg dtiEE 1A 7 ke 900 EE
7Y 7/9kg R 1A 5 kg 850 EiE
754 2 b8 | 10/13kg & kg | 800 EE
hyA 4kg =i 1A i kg | 1,350 A BE
VLN 3kg =k 1A 7 kg | 1,200 & BF
VLN 2 = S5kg 78 kg | 1,100 i RBER
19+ 7/8F =g 3kg 55 kg | 2,300 FB
£ B 6/ HES S5kgd 78 kg | 3,100 8
VAP 3/4kg FE 1A B kg | 3,200 EE
Y5 2 FE S5kgd i kg | 2,800 EE
R 4/5kg k. 1A 5= kg | 1,200 EE
=g 3kegh & 1A 5= kg | 1,300 8 E
Efif 2kgE R 1A ) kg | 1,500 8 E
FH 2kg k.S 1A 5 kg | 2,000 8 Ex
Rals 3kg E 1A & kg | 1,900 8 EX
TAFHA 2/3E aF 4/5kg i kg | 2,900 FTE EX
HE AR 3/4kg INE R 1A 5B kg | 2,200 &
HUIRF 7/8kg INER 1A b kg | 2,000 £
A INF 4kg INETR 1A B kg | 2,200 )
AUINF 3kg INSEE TR 1A i kg | 2,200 £
£ BYINE B 500g b P | 2,600
M7 102 FEF P P | 1,200
BT 102 5 kg P P | 3500
EI5X 100g N P P 500
ryF+H #9300¢g tiEE & kg | 1,600
A5I12 250g aL7 & % | 5,800




